December 20, 2022

## **MEMORANDUM**

FOR

The Regional Executive Director

MIMAROPA Regional

**FROM** 

The OIC-PENRO

Oriental Mindoro

SUBJECT

SUBMISSION OF MONITORING REPORT ON WOOD

IMPORTATION AND DISPOSITION

Forwarded is the monitoring report of CENRO Socorro regarding the above-cited subject.

Please be informed that a total of 18,316 board feet (43.20 cubic meters) of Malaysian lumbers were monitored and recorded within the lumberyard of PRIMA Enterprises located in Brgy. Lalud, Calapan City on December 13, 2022. A total of 1,028 board feet (2.42 cubic meters) have been disposed of from the time of monitoring.

For information and record.

ALANTALLE

DENRPENRO2212000070

December 14, 2022

## **MEMORANDUM**

**FOR** 

The Regional Executive Director

**THRU** 

The OIC - PENR Officer

FROM

The In-Charge, Office of the CENRO

**SUBJECT** 

SUBMISSION OF MONITORING REPORT ON WOOD

IMPORTATION AND DISPOSITION

We are pleased to submit the monitoring report conducted by the personnel of Monitoring and Enforcement Section (MES) of this office on December 13, 2022 in the lumber yard of PRIMA Enterprises located in Brgy. Lalud, Calapan City, Oriental Mindoro. A total of 18,316 board feet or 43.20 cubic meter of Malaysian lumber were monitored. Compared to previous monitoring period conducted on November 09, 2022 and November 11, 2022 which registered 19,344 board feet or 45.32 cubic meter, thus 1,028 board feet or 2.42 cubic meter has been disposed.

Attached are pertinent documents for information and records.

DENR-MIMAROPA REGION

PROVINCIAL ENVIRONMENT AND NATURAL REPOTRCES OFFICE STREET AL MINOSING PENRO TRACKING O.

RECEIVED BY: SPACE CONTROL OF THE STREET AL MINOSING PENRO TRACKING O.

RECEIVED BY: SPACE CONTROL OF THE STREET AL MINOSING CONTROL

Pasi, Socorro, Oriental Mindoro Email: cenrosocorro@denr.gov.ph

December 14, 2022

## **MEMORANDUM**

**FOR** 

The CENR Officer

**THRU** 

The DMO IV

**FROM** 

The Undersigned Personnel

**SUBJECT** 

REPORT ON MONITORING OF WOOD IMPORTATION

AND DISPOSITION

In connection with the above cited subject, please be informed that the undersigned personnel conducted monitoring of the imported Malaysian lumber delivered to Mr. Robert Tee Uy of Prima Enterprises in Brgy. Lalud, Calapan City, Oriental Mindoro from Genmart Wood Development Corporation at Brgy. Lambakin, Marilao, Bulacan on December 13, 2022.

During our monitoring on, a total of one thousand four hundred twelve (1,412) pieces of Malaysian lumber with an aggregate volume of 18,316 board feet or 43.20 cubic meter were inventoried in lumber yard of Prima Enterprises. Compared to previous inventory conducted on November 09, 2022 and November 11, 2022 which registered 19,344 board feet or 45.62 cubic meter, thus a total of 1,028 board feet or 2.42 cubic meter were sold/disposed.

Attached herewith are the geo-tagged photos taken during the monitoring, Scale/Tally Sheet of the remaining lumber, Forestry Statistical Form and certification on the transported lumber.

For information and record.

poresier i

Forest Ranger

# Republic of the Philippines DEPARTMENT OF ENVIRONMENT AND NATURAL RESOURCES FORESTRY STATISTICAL FORM

November, 2022 - December, 2022

## (Period Covered)

WOOD IMPORTATION AND DISPOSITION

2.42	N/A	N/A	2.42	N/A	Genmart Wood Development Corporation, Brgy. Lambakin, Marilao, Bulacan	45.62	Malaysian Timber	45.62	Lumber	Robert S. Uy	December	SOCORRO	ORIENTAL MINDORO	MIMAROPA
Volume End-Product (m3)		~	Volume (m3)	FOB Value (US \$)	Country of Origin	Volume (m3)	(Scientific Name)	Balance (m3)	Wood Product	Importer	Month	CENRO	PENRO	Region
Consumed Processed by Owned WPP	rocessed by Ov	70	Consumed		In the second se			Beginning	Type of	Name of				
DISPOSITION					IMPORTATION									

<sup>1.</sup> Includes logs, lumber, veneer, wood-based panels, poles and piles, pulpwood, wood chips, and other wood-based products (DAO 1999-46)

Prepared by:

Attested by:

Divid IV CENTRO ROCCORRO

Monitoring Focal/II

ANCENRO SOCORRO

December 14, 2022 Date Signed

December 14, 2022 Date Signed

Processed Imported Wood Products should also be reported under SRS.

## SCALE/TALLY SHEET OF IMPORTED MALAYSIAN LUMBER STOCKPILED DURING THE MONITORING IN THE LUMBERYARD OF PRIMA ENTERPRISES LOCATED IN BRGY. LALUD, CALAPAN CITY, ORIENTAL MINDORO

SPECIES		DIMENSION		PIECES	VOLUME
	THICK (INCH)	WIDTH (INCH)	LENGTH (FEET)		VOLUME (BOARD FEET)
MALAYSIAN LUMBER	2	6	8	152	1216.00
MALAYSIAN LUMBER	2	6	10	91	910.00
MALAYSIAN LUMBER	2	8	10	77	1026.00
MALAYSIAN LUMBER	2	4	12	166	1328.00
MALAYSIAN LUMBER	2	6	12	253	3036.00
MALAYSIAN LUMBER	2	8	12	90	1440.00
MALAYSIAN LUMBER	2	10	12	72	1440.00
MALAYSIAN LUMBER	2	6	14	256	3584.00
MALAYSIAN LUMBER	2	4	14	14	130.00
MALAYSIAN LUMBER	2	6	16	128	2048.00
MALAYSIAN LUMBER	2	6	18	69	1242.00
MALAYSIAN LUMBER	2	8	18	9	216.00
MALAYSIAN LUMBER	2	6	20	35	700.00
TOTAL				1,412	18,316.00 Bd. Ft. or 43.20 m <sup>3</sup>

Forest Ranger

Prepared and inventoried by:

Pasi II, Socorro, Oriental Mindoro Email: cenrosocorro@denr.gov.ph



Geo-tagged pictures taken during the monitoring and inventory of the Malaysian lumber stockpiled in the lumber yard of Prima Enterprises located in Brgy. Lalud, Calapan City, Oriental Mindoro